_rq»\vwr /Sipsew —SPI'Q\WGL\ Cﬂobj’

let G be a A-# JNI,L g;(vﬁ) 5‘)

bz)o. vied "ﬁ ¢

Ld Co < ?/o,]‘j d w.‘H'\ d'\&’,a“"(« ‘{;d . L'."‘?Of CWl‘-

Tomv\zr cotle G‘(Cﬁ\ = { w: E— ?°l’f ’ Yv UIE(V) € /Co f
M o Ty dowble cover oF G is A L'q)"~ 9”'/7“ G, G € {q IFEM
(Veuy, Exgn) W) [ uyvs)

Y G
1
v v'
Ra\'Q, : Su\ﬂ)o‘g& Ainm C. = :0\ #Po}ej h-of
’:;l;.fwe #V‘!vt\- 2h
e

¥ b onskavte per verkax : d- vd



B amstranfts G;(C.) 2n- (d- ro()
B 66)> nd - znd + grd < wd (2r - 1)
A
‘,{- o JZ. 61(Co) has rale >0 .

Disfane Let W0 codtwerd L 7 ;("'6)/ U[h’!’{/:/ }
(WK E — ?0,/} f

S-= ?MGV / I fovches g, {O‘J‘MFE W
TeRuet | o
- f y

EML STV ‘E(s,‘r)— ‘ﬂ"ﬂ'é / < I/

Tev (ij

max(1D) 131) orwaf

fod- WS m(&&' |T)l Fa'o\'ls\) < IFl 2 e < st /T].o:l‘+ INVETT
o~ —

I (4-2) < Jotl -4 < 4 IF
N L ¥

wd £ (Fo =) < |F] 7

~ ~~



Lemma 17 Assume that \@ < do/3. When the number of errors is at mdst (1 — e)%(% — 2)nd,

the above algorithm converges to the correct codeword when run for A(e)logw iterations.
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